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persons interchange their positions to each

1) In a row of persons Vipul is 37t from left and other. Then, Manish becomes 31st from the right
29t from right. How many persons are there in end. How many students are there in that row?
that row? a) 60 b) 61 ) 63
a) 63 b) 55 c) 65 b) 65 e) None of these
d) 64 e) None of these

8) In a row of students Kishan is 37t from left end

2) In a row of 68 students. Piyush is 39t from left and Tarun is 28t from right end. Both
end. What is his position from right end? interchange their position to each other. Then,
a) 30 b) 31 c) 29 Tarun becomes 36t from right end. What will be
d) 34 e) None of these Kishan’s position from left end?

a) 46 b) 43 c) 44

3) In arow of 124 students Anupam is 65 from left b) 45 e) None of these
and Bhanu is 86 form right end. How many
students are there between Anupam and Bhanu? 9) A class of boys stands in a single line. One boy is
a) 27 b) 25 c) 26 seventeenth from both the ends. How many boys
d) 28 e) None of these are there in the class?

4) In a row of 96 students, Pradeep is 54 from left a) 33 b) 34 c) 32
and Nishant is 61 from right end, if Vivek is in ¢ ) e) None of these
middle of Pradeep and Nishant. Then, what are
Vivek’s position from both the ends? 10)In a row of tree, a tree is 23rd from left and 27th
a) 45and 50 b) 45 and 52 from the right end. How many trees are there in
¢) 52and 54 d) 52 and 44 the row?

e) None of these a) 46 b) 47 c) 45
d) 44 e) None of these

5) In arow of 87 students Sunil is 36 from left end
and Prashant is 33 from right end. How many 11)Ravi is eighteenth from left and nineteenth from
students are there between Sunil and Prashant? right in a row. How many students are there in
a) 16 b) 18 c) 17 the row?

d) 20 e) 19 a) 36 b) 37 c) 35
d) 38 e) None of these

6) In a row of 85 students Kunal is 32 from right
end and Naman is 38 from left end. If Anshul is 12)In a row of 40 students Ranjeet is seventeenth
in middle of Kunal and Naman. What is Anshul’s from right end then what will be Ranjeet’s
position from the ends? position from left?

a) 46and 40 b) 46 and 45 a) 22 b) 23 c) 24
c) 45and 48 d) 40 and 42 d) 28 e) None of these

e) None of these
13)In arow of 50 students Renu is fifteenth from left
7) In a row of students Rohit is 31st from left end and Raju is eighteenth from right. How many

and Manish is 26t from right end. If both students ate between them? Pake | 1
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a) 17 b) 16 )7 19)Fifteen students are standing in horizontal row
d) 8 e) None of these from left to right. If all the odd numbered
students in the row are shifted to successive odd
14)Seema is nineteenth from right and eight to the numbered positions, what will be the position of
right of Suman, who is fifteenth from left. Then, Sonam who was 7t from the left end in the row
how many students are there in a row? initially?
a) 41 b) 40 c) 39 a) 8t from the left end
d) 42 e) None of these b) 7t from the right end
c) 8t from the right end
15)Shamita is eight to the right of Nikita who is d) 7t from the left end
twenty-one from right. Ravi is tenth to the left of e) None of the above
Shamita and is 23rd from left. Then, how many
students are there in the row? 20)In a row of 35 students Rakesh when shifted by
a) 42 b) 45 c) 48 sixth places toward his right, then he becomes
d) 50 e) None of these eighteenth from right. Then, what was Rakesh’s
previous position from left before shifting?
16) Mohan is twenty fourth from left and is sixth to a) 10 b) 13 ©)12
right of Rohan, who is thirty-third from right and d) 11 e) None of these
he is just between Mohan and Sohan. Then, what
will be Sohan'’s position from left? 21)Ina row of girls, Priyanka and Deepa occupy the
a) 12 b) 14 c)8 ninth place from the right end and tenth place
d) 9 e) None of these from the left end, respectively. If they
interchabge their places, Priyanka and Deepa
17)Amit is seventeenth from"left ‘and Sumit is occupy seventeenth place from the right and
fourteenth from right in the row of 50 students eighteenth place from the left, respectively. How
and AnKkit is sitting just exactly in between them. many girls are there in the row?
Then, what will be Ankit’s position from right a) 27 b) 26 c) 25
end? d) Datainadequate  e) None of these
a) 14 b) 19 c)18
d) 15 e) None of these 22)In a row at a bus stop, Amit is 7th from the left
and Prakash is 9t from the right. Both of them
interchange their positions and thus Amit
18)In a row of children facing North, Sonam if becomes 11t from the left. How many people are
shifted to her right by four places becomes there in that row?
eighteenth from the right end of the row. a) 20 b) 18 ) 21
Anjuman, who is fifteenth from the left end of the d) 19 e) None of these
row, is fifth to the left of Sonam. How many
children are there in the row? 23)In a queue of children, Lovely is fifth from the left
a) 39 b) 40 041 and Riya is sixth from the right. When they
d) 38 e) None of these interchange their places among themselves,
Page | 2
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Lovely becomes thirteenth from the left. Then,
what will be Riya’s position from the right?

a) 15t b) 14th c) 9th

d) 8t e) 12t

24)In a row of 29 boys, Rajendra is at seventeenth
position from the left and while Harendra is
seventeenth from the right end. How many boys
are there between Rajendra and Harendra?
a) 6 b) 3 )5
d) Cannotbe determined
e) None of these

25)Forty boys are standing in a row facing the
North. Raghu is 11t from the left and Rajeev is
31st from the right end of the row. How far away
will Laxman , who is third to the right of Raghu
in the row, be from Rajeev?
a) 3m b) 4th c) 5th
d) 6t e) None of these

26)In a row of 40 students Mahesh-is twenty-eight
from left and Suresh is twenty-fifth from right. If
Dinesh is sitting just exactly in between them,
what will be Dinaesh’s position from left?
a) 24 b) 22 c) 28
d) 23 e) None of these

27)In a class, among the passed students, Amisha is
22n0d from the top and Sajal, who is 5 ranks below
Amisha, is 34th from the bottom. All the students
from the class have appeared for the exam. If the
ratio of the students who passed in the exam to

a) 60 b) 75
d) Datainadequate

c) 90
e) None of these

Copyrlght © All Rights Reserved | https://www.spardha.guru

In a row of boys and girls, Radha is sixth from the
top and Atul is twelfth from top. Radha is fourth
from the top and sixth from bottom among girls.
Atul is seventh from the top and twenty-fourth
from bottom among boys.

28)How many children are there in the row?
a) 41 b) 39 c) 48
d) 49 e) None of these

29)How many girls are sitting below Atul?
a) 15 b) 4 c) 16
d) 18 e) None of these

30)How many boys and girls are sitting there
between Radha and Atul?
a) 1girl -4 boys b) 4 girls - 1 boy
c) 5 d)4  e) None of these

Directions : ()Q No: 31 - 33) Study the following
information to answer the given questions.

Seven people A, B, G, D, E, F and G stay in a building
that has seven floors. Only one person stays on one
floor. The ground floor in numbered 1, the floor
above it, number 2 and so on and the top most floor
is numberd as 7. G stays on the ground floor, E stays
on an odd numbered floor. B stays on a floor
immediately below E’s floor. There are two floors
between the floors on which E stays and the floor
on which A stays. C stays on a floor immediately
above D’s floor. D stays on any floor which is below
the floor on which E stays.

31) Who amongst the following stays on the topmost

floor?
those who failed is 4 : 1 in that class, how many a) A BE o)C
students are there in the class? d) D e) None of these

32)Who amongst the following stays on the fourth

?
Directions : (Q No: 28 - 30) Study the following ﬂoo]rg. e o
formation to answer the given questions. a) ) 9)
d) C e) None of these
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33)Who amongst the following stays on the floor
which is exactly between the floor on which A
stays and the floor on which B stays?
a) F b)C ¢o)E
d) D e) None of these
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